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QUESTION 1
If the AUDIT_BUF_SZ configuration parameter is set to zero (0), what will happen?
A. The audit facility writes records to disk at the same time the statements generating the audit records are executing.

B. Statements generating audit records must wait for the records to be written to disk before they can complete
execution.

C. The writing of audit records to disk will be delayed until a minimum number of records (based on record size and
memory available in the database heap) have been generated.

D. There is no limit to how many audit records can be stored in an internal memory buffer for one single statement
generating audit records.

Correct Answer: B

QUESTION 2

In what situation should you use a redirected restore operation?

A. You want to drop a storage group during a restore process.

B. You want to move data from one operating system to another.

C. You want to restore you table spaces into new storage groups.

D. You want to restore your table space containers into a different physical location.

Correct Answer: D

QUESTION 3
What is the preferred method for reclaiming unused storage in a DMS table space?
A. Perform an ALTER TABLESPACE...REDUCE operation.

B. Perform a REORG on each table within the table space, then perform an ALTER TABLESPACE...REDUCE
operation.

C. Perform an ALTER TABLESPACE...LOWER HIGH WATER MARK operation, and then an ALTER
TABLESPACE...REDUCE operation.

D. Perform a REORG on each table within the table space, then perform an ALTER TABLESPACE...LOWER HIGH
WATER MARK operation.

Correct Answer: C
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QUESTION 4

Consider the following statement:

SELECT lastname, job, workdept FROM employee g, department d
WHERE e.workdept = d.deptno
AND d deptname = 'SOFTWARE 5UFPFPORT!
ORDER BY lastname

Which indexes should be created for optimal query performance?
A. CREATE INDEX emp_idx ON employee (workdept); CREATE INDEX dept_idx ON department (deptno);

B. CREATE INDEX emp_idx ON employee (workdept) CLUSTER; CREATE INDEX dept_idx ON department
(deptname, deptno);

C. CREATE INDEX emp_idx ON employee (workdept, lastname, job); CREATE INDEX dept_idx ON department
(deptname, deptno);

D. CREATE INDEX emp_idx ON employee (lastname, job, workdept) CLUSTER; CREATE INDEX dept_idx ON
department (deptname);

Correct Answer: C

QUESTION 5

The following message is frequently seen in the DB2 Diagnostics Log file (db2diag.log):
MESSAGE:

ADM5502W

The escalation of "28581" locks on table "TEST.TABLE1" to lock intent "X" was successful. Which two database
configuration parameter settings should be checked? (Choose two.)

A. LOCKLIST

B. MAXAPPLS

C. MAXLOCKS

D. MAXAGENTS
E. LOCKTIMEOUT

Correct Answer: AC

QUESTION 6
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What is the default user workload class that is created for each database table?
A. DEFAULT_USER

B. SYSUSERDEFAULTWLM

C. SYSDEFAULTUSERWORKLOAD

D. SYS_DEFAULT _USER_WORKLOAD

Correct Answer: C

QUESTION 7

What is the default user workload class that is created for each database table?
A. DEFAULT_USER

B. SYSUSERDEFAULTWLM

C. SYSDEFAULTUSERWORKLOAD

D. SYS_DEFAULT_USER_WORKLOAD

Correct Answer: C

QUESTION 8

A table named MYTAB was created as follows:

CREATE TABLE miytab (c1 INT, c2 INT)
PARTIT ON BY RANGE (c1)

(STARTING FROM (1) ENDING AT (1007,
STARTING FROM (201} ENDING AT (30035,

If the following statements are executed:

INSERT INTO mytab VALUES (1,1),(2,1),(3,13,(101,1);
INSERT INTO rmytab VALUES (4,1),05,1),(6,11,(201,1);
INSERT INTO rmiytab WALUES (7,1),(8,1),(9,11,(300,1);

How many rows will be inserted into the MYTAB table?
A 4
B.8

C.11
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D. 12

Correct Answer: B

QUESTION 9

What are two services that the cluster caching facility (CF) provides in a DB2 pureScale environment? (Choose two.)
A. Global Lock Management (GLM)

B. Group Transaction Routing (GTR)

C. Automated Member Restart (AMR)

D. Buffer Pool Synchronization (BPS)

E. Shared Communications Area (SGA)

Correct Answer: AE

QUESTION 10

Which statement about Insert-Time-Clustered (ITC) is correct?

A. Views cannot be created on ITC tables.

B. ITC tables do not support row compression.

C. Block indexes cannot be created for ITC tables.

D. ITC tables can release their empty pages to the operating system.

Correct Answer: C

QUESTION 11

Which statement about block indexes is correct?

A. Because of their large size, block indexes are extremely efficient.

B. Block indexes improve performance when data is not clustered on sequential pages.

C. Prefetching of data pages relies on sequential detection when block indexes are used.

D. The records for each block are retrieved using a mini-relational scan of saved data pages.

Correct Answer: C
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QUESTION 12

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with?
A. Data class, work class, and a limit

B. Data class, action class, and a threshold

C. Service subclass, action class, and a limit

D. Service subclass, work class, and a threshold

Correct Answer: D

QUESTION 13

Which procedure is used to Explain an SQL statement using information obtained from the package cache or the

package cache event monitor?
A. EXPLAIN_FROM_DATA

B. EXPLAIN_FROM_ACTIVITY
C. EXPLAIN_FROM_SECTION
D. EXPLAIN_FROM_CATALOG

Correct Answer: C

QUESTION 14

What must be done to convert an existing table into an Insert-Time-Clustered (ITC) table?
A. Call the ADMIN_MOVE_TABLE procedure.

B. Call the ADMIN_REVALIDATE_DB_OBJECTS procedure.

C. Issue a REORG TABLE statement with the ORGANIZE BY INSERT TIME option.

D. Issue an ALTER TABLE statement with the ORGANIZE BY INSERT TIME option.

Correct Answer: A
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QUESTION 15

The following statement was used to create a table space named USER_TMP in a non-partitioned database:

CREATE USER TEMPORARY TABLESPACE user_tmp MANAGED BY SYSTEM USING (mnt/fsystem4 mnt/fsystem5
Which operation can be performed on the USER_TMP table space with an ALTER TABLESPACE statement?

A. New storage containers can be added to it.

B. A different buffer pool can be associated with it.

C. A hard limit can be placed on the size to which its storage containers can grow.

D. Its high water mark can be lowered and its size can be reduced to the high water mark.

Correct Answer: B
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